Math 1131 Review

Dec. 8, 2023



Practice problem 1

A function f(x) satisfies f”(x) = 2 — 3x with f/(0) = —1 and
f(0) = 1. Compute f(2).
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Practice problem 2

D
Find f(x) if f'(x) = 3x* + = for x > 0 and f(1) = 3.
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Practice problem 3

Below is the graph of the velocity (in ft/sec) over the interval
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Practice problem 4

If we use a right endpoint approximation with four subintervals,
then what Is the approximation for f04 f(x)dx?
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Practice problem 5
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Practice problem 6

3 3
If / f(x) dx = 4, then what is / (f(x)+ 1) dx?
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Practice problem 7

2

1
If f(x) = h is f'(x)?
(x) /1 51 dt, then what is f/(x)
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Practice problem 8

Int
If w'(t) = nT for t > 1 is the rate of growth of a child in poundsA.'
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per year, find / w'(t) dt and give an interpretation of your
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Practice problem 9a
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Evaluate/ L + cos’ de ’j + i >&*x
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Practice problem 9c




Practice problem 9d




Practice problem 9e

. 10 dt
valuate i (t—4)2' ;5% UJ-;'
Ld‘ U_’M 4‘0 m-sik =0 => Le=6
b
g )

5 @"D 1 u"”‘(é,_ uf‘l"
= = T 3

_ )6

w

—L (Y



Practice problem 9f




Practice problem 10

Sketch the region bounded by y—=4/x—1and x — y =1 and
determine its area. '
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Practice problem 11

Use calculus to find the area of the triangle with vertices (0, 0),
(3,1), and (1,2).
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Practice problem 12a

What is the area of the region under the curve y = 1/x for
1 < x <1007
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Practice problem 12b

What happens to the area in part (a) as the right endpoint tends
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Practice problem 12c

What is the volume of the solid obtained by revolving y = 1/x for
1 < x <100 around the x-axis? A_«)z
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Practice problem 12d

What happens to the volume in part (c) as the right endpoint
tends to oco?




Practice problem 12e

What is an integral for the volume of the solid whose base is the
region bounded by y =1/x, y =0, x =1, and x = 100 with
cross-sections perpendicular to the x-axis being right triangles
whose height (shorter leg) is half their base (longer leg)?
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Practice problem 12f

What happens to the volume in part (e) as the right endpoint
tends to oco?



Practice problem 13a

Consider the region bounded by y = ﬁ@ and x = 4. Set
up, but do not evaluate, an integral for the area of this region.
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Practice problem 13b

Consider the region bounded by y = \/x, y = 1, and x = 4. Set
up, but do not evaluate, an integral for the volume of the solid

obtained by rotating the region around th




Practice problem 13c

Consider the region bounded by y = \/x, y = 1, and x = 4. Set
up, but do not evaluate, an integral for the volume of the solid

obtained by rotating the region around th
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Practice problem 13d

Consider the region bounded by y = \/x, y = 1, and x = 4. Set
up, but do not evaluate, an integral for the volume of the solid
obtained by rotating the region around the line y = 1.
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Practice problem 13e

Consider the region bounded by y = \/x, y = 1, and x = 4. Set
up, but do not evaluate, an integral for the volume of the solid
obtained by rotating the region around the line x = 5.




